# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New			Dest			<b>NA</b>		• •
	E'red Nierre		0.14	Emp to	Destina	Descention	Pay			Maximum	•	Assign
Last Name	First Name	MI	Site	District	Duties	Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College	Community	Educa	tion									
Chapor College	Community	Luuca			To teach Guitar to	Community						
					Community	Education						
					Education students	Education						
Brill	Bruce	nmi	Chabot	No			Hourly	\$45.00	30	\$1.350.00	9/24/2011	12/17/2011
					To teach Tae Kwon	Community		<b>•</b> •••••		<i>•••••••••••••••••••••••••••••••••••••</i>		
					Do to Community	Education						
					Education students							
DeGuzman	Rudolfo	S.	Chabot	No			Hourly	\$25.00	17	\$425.00	8/23/2011	12/13/2011
Deouzinan	Rudono	0.	Chabot		To teach Dance to	Community	Tiodity	φ20.00		<b> 120.00</b>	0,20,2011	12/10/2011
					Community	Education						
					Education students	Ladoation						
DeLeon	Emerlita	A.	Chabot	No			Hourly	\$35.00	16	\$560.00	10/1/2011	12/17/2011
					To teach Cake	Community						
					Decorating to	Education						
					Community							
					Education students							
Groff	Mary Lou	nmi	Chabot	No			Hourly	\$30.00	48	\$1,440.00	10/3/2011	12/13/2011
					To teach Water	Community						
					Aerobics to	Education						
					Community							
					Education students							
Hawtrey	Nancy	S.	Chabot	No			Hourly	\$45.00	30	\$1,350.00	6/7/2011	7/18/2011

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties To teach Basketball	Department Community	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					to Community	Education						
					Education students	Laudation						
Jackson	James		Chabot	No			Hourly	\$45.00	64	\$2,880.00	8/7/2011	10/2/2011
Jackson	James	L.	Chabot	INU	To teach Belly	Community	riouriy	φ4 <u>3.00</u>	04	φ2,000.00	0/7/2011	10/2/2011
					Dancing to	Education						
					Community							
					Education students		Per					
Karpeles	Rachelle	M.	Chabot	No			Student	\$31.60	22	\$695.20	9/20/2011	11/15/2011
					To teach Computers							
					to Community Education students	Education						
					Education students							
Landeros	Rosa	G.	Chabot	No			Hourly	\$45.00	12	\$540.00	10/8/2011	10/29/2011
					To teach	Community						
					Computerized	Education						
					Medical Insurance							
					Billing to Community Education students							
							Per					
Patterson	Kris	nmi	Chabot	No			Student	\$10.00	12	\$120.00	9/24/2011	10/4/2011
					To teach Start a	Community						
					Medical Insurance	Education						
					Billing Service to							
					Community		Der					
Patterson	Kris	nmi	Chabot	No	Education students		Per Student	\$26.00	20	\$520.00	9/24/2011	10/4/2011
ralle15011	1/112		Unabul	INU			Sludent	<b>⊅∠0.00</b>	20	J0707€	9/24/2011	10/4/2011

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі		-	Duties	Department	гау Туре	Pay Rate	Maximum		Beg. Date	End Date
					To teach Advanced	Community						
					Medical Insurance	Education						
					Billing to Community							
					Education students							
							Per					
Patterson	Kris	nmi	Chabot	No			Student	\$34.00	15	\$510.00	9/24/2011	10/4/2011
					To teach Workers'	Community						
					Compensation and	Education						
					Personal Injury to							
					Community							
					Education students		Per					
Patterson	Kris	nmi	Chabot	No			Student	\$34.00	10	\$340.00	9/24/2011	10/4/2011
					To teach Medical	Community						
					Front Office to	Education						
					Community		_					
					Education students		Per	<b>•</b> • • • • •		<b>.</b>		
Patterson	Kris	nmi	Chabot	No			Student	\$42.00	20	\$340.00	9/24/2011	10/4/2011
					To teach	Community						
					Introduction to	Education						
					Medical Insurance							
					Billing to Community							
					Education students		Per					
Dettoroon	Kris	nmi	Chabot	No			Per Student	\$42.00	15	\$620.00	9/24/2011	10/4/2011
Patterson	rtiis	nmi	Chapot	INU			Suudent	<b>⊅</b> 4∠.00	15	9030.00	9/24/2011	10/4/2011

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Boy			Maximum	Assign	Accian
Last Name	First Name	мі	Site	Emp to District	Duties	Department	Рау Туре	Pay Rate	Maximum		Beg. Date	Assign End Date
					To teach Medical	Community	- 71					
					Insurance Billing (4	Education						
					class bundle) to							
					Community							
					Education students		Per					
Patterson	Kris	nmi	Chabot	No			Student	\$110.00	25	\$2,750.00	9/24/2011	10/4/2011
					To teach Sewing to	Community						
					Community	Education						
					Education students							
Ragbotra	Kamal	nmi	Chabot	No			Hourly	\$35.00	15	\$525.00	10/8/2011	11/26/2011
					To teach Line	Community						
					Dancing to Quest	Education						
Woergoetter	Rosalie	nmi	Chabot	No	students		Hourly	\$45.00	24	\$1,080.00	8/30/2011	12/15/2011
Chabot College	9											
					To provide mental	Student Health						
Castro	Shauna	L.	Chabot	No	health services	Center	Flat	\$500.00	12/week	\$500.00	8/1/2011	6/30/2012
					To provide	School of the						
					assistance with	Arts						
					television station							
Chou	Betty	nmi	Chabot	No	operations		Hourly	\$16.00	20/week	\$8,320.00	7/1/2011	12/31/2011
					To assist with the	Student						
Le	Nhut	H.D.	Chabot	No	ASCC Flea Market	Services	Hourly	\$8.50	12/week	\$5,304.00	7/1/2011	6/30/2012

# Informational Report for the September 20, 2011 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide outreach	Disabled						
					for young first	Students						
					generation and low	Programs and						
					income students	Services						
					funded by the							
N I				N/s s	TRIO/ETS grant			<b>\$</b> 04.00	00/ 001	<b>*-------------</b>	0/0/0044	40/04/0044
Noor	Maryam	М.	Chabot	Yes		Applied	Hourly	\$21.00	20/week	\$7,140.00	9/6/2011	12/31/2011
					To provide assistance to the	Applied Technology						
					Fire Technology	and Business						
					Instructor and	and Dusiness						
					support the students							
Pastore	Mary	E.	Chabot	No			Hourly	\$75.00	128	\$9,600.00	8/16/2011	6/30/2012
					To provide support	Bookstore						
					services for the							
Prenot	Cheryl	Α.	Chabot	Yes	bookstore		Hourly	\$30.00	200	\$6,000.00	8/12/2011	12/31/2011
					To provide services	School of the						
					including coaching,	Arts						
					accompanying and							
					performing in two							
Shannon	William	R.	Chabot	No	music productions		Flat	\$1,000.00	n/a	\$1,000.00	0/15/2011	5/10/2012
Shannon	vvillari	IX.	Chabot	INU	To provide support	Disabled	Παι	\$1,000.00	11/a	\$1,000.00	9/13/2011	5/10/2012
					for the Disabled	Students						
					Student Programs	Programs and						
					and Services and	Services						
					provide							
Schwer	Katherine	L.	Chabot	No	accommodations		Hourly	\$20.00	25/week	\$26,000.00	7/1/2011	6/30/2012

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	м	Site	-	Duties	Department	гау Туре	Pay Rate	Maximum		Beg. Date	End Date
Las Positas Co								- <b></b>			209.200	
					To teach Music and Harmonica to Community	Community Education	Per					
Broida	David	F.	Las Positas	No	Education students		Student	\$15.00	n/a	n/a	9/1/2011	6/30/2012
<u>Diolog</u>					To teach parenting classes to Community Education students	Community Education	Per	••••••				
Dozier	Thomas	Н.	Las Positas	No			Student	\$10.00	n/a	n/a	9/1/2011	6/30/2012
Dozier	Thomas	H.	Las Positas	No	To teach Helping Older Children to Community Education students	Community Education	Per Student	\$20.00	n/a	n/a	9/1/2011	6/30/2012
Dunbar	Richard	В.	Las Positas		To teach conversational languages to Community Education students	Community Education	Hourly	\$40.00	100	\$4,000.00		6/30/2012
Farber	Jennifer	L.	Las Positas	No	To teach wellness and activity classes to Community Education students	Community Education	Flat	\$1,080.00	n/a	\$1,080.00		8/31/2011

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	-	Duties	Department	Туре	Pay Rate	Maximum		Beg. Date	End Date
					To teach Music to	Community						
					Community	Education						
					Education students		Per					
Faust	Carol	C.	Las Positas	No			Student	\$20.00	n/a	n/a	9/1/2011	6/30/2012
					To teach business,	Community						
					career, and finance	Education						
					classes to							
					Community							
					Education students							
Miller	Nancy	nmi	Las Positas	No			Hourly	\$30.00	50	\$1,500.00	9/1/2011	6/30/2012
					To teach career	Community						
					education classes to	Education						
					Community							
					Education students		Per					
Moran	Elaine	nmi	Las Positas	No			Student	\$19.60	n/a	n/a	9/1/2011	6/30/2012
					To teach Spanish to	Community						
					Community	Education						
					Education students							
Moyer	Aida	G.	Las Positas	No			Hourly	\$40.00	200	\$8,000.00	9/1/2011	6/30/2012
					To teach Fencing to	Community						
					Community	Education						
					Education students							
Murray	Stephen	D.	Las Positas	No			Hourly	\$40.00	200	\$8,000.00	9/1/2011	6/30/2012
					To teach Spanish to							
					Community	Education						
					Education students							
Nevarez	Hortencia	nmi	Las Positas	No			Hourly	\$30.00	200	\$6,000.00	9/1/2011	6/30/2012

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Ŭ	Assign
Last Name	First Name	MI	Site	District	Duties	Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To teach skincare	Community						
					and wellness	Education						
					classes to							
					Community Education students							
Palmer	Angela	R.	Las Positas	No			Hourly	\$40.00	60	\$2,400.00	9/1/2011	6/30/2012
Fairrei	Ліусіа	1.	Las Pusilas	INU	To teach medical	Community	Tiouny	φ <del>4</del> 0.00	00	φ2,400.00	9/1/2011	0/30/2012
					assisting and allied	Education						
					health classes to	Eddouton						
					Community							
					Education students							
Patterson	Kris	nmi	Las Positas	No			Hourly	\$30.00	100	\$3,000.00	9/1/2011	6/30/2012
					To teach Finance	Community						
					and Real Estate to	Education						
					Community							
<b>.</b> .		_			Education students		Per	<b>•</b> • <b>-</b> • •	,	,		
Racine	Warren	E.	Las Positas	No		0	Student	\$15.00	n/a	n/a	9/1/2011	6/30/2012
					To teach Fencing to	Community Education						
					Community Education students	Education						
Ringener	James	W.	Las Positas	No			Hourly	\$40.00	200	\$8,000.00	9/1/2011	6/30/2012
rangerier					To teach business,	Community		<b></b>		<i><b>4</b>0,000.000</i>	0, 1/2011	0,00,20.2
					career, and finance	Education						
					classes to							
					Community							
					Education students							
Rounds	Michael	F.	Las Positas	No			Hourly	\$30.00	50	\$1,500.00	9/1/2011	6/30/2012

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	-	Duties	Department	Туре	Pay Rate	Maximum		Beg. Date	End Date
					To teach language	Community					- <b>J</b>	
					classes to	Education						
					Community							
					Education students							
Suarez	Catherine	Α.	Las Positas	No			Hourly	\$30.00	200	\$6,000.00	9/1/2011	6/30/2012
					To teach dance and	Community						
					activity classes to	Education						
					Community							
					Education students							
) / a h va nal a	Luda			NI-			Per	<b>\$</b> 20.00			0/4/0044	0/00/0040
Valverde	Luis	nmi	Las Positas	No	Tataab		Student	\$30.00	n/a	n/a	9/1/2011	6/30/2012
					To teach	Community Education						
					Winemaking to Community	Education						
					Education students							
Wood	Royce	Α.	Las Positas	No			Hourly	\$30.00	50	\$1,500.00	9/1/2011	6/30/2012
Las Positas (	College											
					To provide support	One Stop						
					for the operations of	Career Center						
					the Workforce			•		• • • • • • • • •		_ / /
Donovan	Patricia	Α.	Las Positas	No	Investment Act		Monthly	\$3,900.00	24/week	\$46,800.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
					language	Students						
Crigoby	Cobrielle	K		Vee	interpretation	Programs and	Hourby	¢50.00	000	¢10,000,00	7/4/0044	0/20/2040
Grigsby	Gabrielle	K.	Las Positas	Yes	services	Services	Hourly	\$50.00	200	\$10,000.00	7/1/2011	6/30/2012

# Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District		Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide software	Instructional						
					support for the	Technology						
					applications SARS,							
Lana	Douglas	Α.	Las Positas	No	STARS and ATI		Hourly	\$32.22	50	\$1,611.00	8/1/2011	6/30/2012
Lane	Douglas	А.	Las Positas	INU	To provide wellness	Student Health	Houny	φ32.2Z	50	\$1,011.00	0/1/2011	0/30/2012
					information to	Center						
					students including	Conton						
					nutrition, exercise,							
					and mind/body							
					awareness							
Manning	Donna	M.	Las Positas	No			Hourly	\$40.00	3.5/week	\$6,720.00	8/1/2011	6/30/2012
					To provide job	Disabled						
					development	Students						
					support for disabled	Programs and						
Montalvo	Debra	J.	Las Positas	No	students	Services	Hourly	\$24.00	30/week	\$34,560.00	8/1/2011	6/30/2012
District Service	es											
					To provide	Economic						
					emotional and	Development						
					practical support to	and Contract						
					parents new to the	Education						
					Solano County Child							
Ohannian	<b>O</b> a h win a	-	District	Vaa	Welfare system		Llaundur	¢40.00	400	¢4,000,00	7/4/0044	0/00/0040
Champion	Sabrina	E.	District	Yes	To provide United	Economic	Hourly	\$10.00	400	\$4,000.00	7/1/2011	6/30/2012
					To provide United States History	Development						
					traning services to	and Contract						
Henig	Gerald	S.	District	Yes	clients	Education	Hourly	\$100.00	100	\$10,000.00	8/22/2011	6/30/2011

## Informational Report for the September 20, 2011 Board of Trustees Meeting

				New Emp to			Pay			Maximum	U	Assign
Last Name	First Name	MI	Site	District	Duties	Department	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
						Economic Development and Contract Education						
McCarl	Chistina	M.	District	Yes			Hourly	\$10.00	400	\$4,000.00	7/1/2011	6/30/2012